Division with decimal remainders

Calculate the following giving your answer with remainders up to 2 decimal places



1. [bookmark: _GoBack] 12  ÷  5  =

2.  34  ÷  3   =

3.  28   ÷   8  =

4.  53   ÷    4  =

5.  90   ÷    8  =

6.  203   ÷   5  =

7.   15   ÷   6  =

8.   25   ÷   4  =

9.   57   ÷    5  =




10. 95  ÷   3 =

11.  100   ÷  9 =  

12.  326   ÷  8 = 

13.  23  ÷   4 =

14.  37  ÷  2 =

15.  53  ÷   3 =

16. 79   ÷   5 = 

17. 87   ÷   6 =

18.  500  ÷   3 =




1.  12  ÷  5  = 2.4

2.  34  ÷  3   = 11.33

3.  28   ÷   8  = 3.5

4.  53   ÷    4  = 13.25

5.  90   ÷    8  = 11.25

6.  203   ÷   5  = 40.6

7.   15   ÷   6  = 2.5

8.   25   ÷   4  = 6.25

9.   57   ÷    5  = 11.4





10. 95  ÷   3 = 31.67

11.  100   ÷  9 =  11.11

12.  326   ÷  8 = 40.75

13.  23  ÷   4 = 5.75

14.  37  ÷  2 = 18.5

15.  53  ÷   3 = 17.67

16. 79   ÷   5 = 15.8

17. 87   ÷   6 = 14.5

18.  500  ÷   3 = 166.67



